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Introduction 

 
The main aim of this booklet is to exemplify standards for those teaching Cambridge IGCSE Business Studies 
(0450) Paper 1, and to show how different levels of candidates’ performance relate to the subject’s curriculum 
and assessment objectives. There is a separate booklet for Paper 2. 
 
In this booklet candidate responses have been chosen to exemplify a range of answers. Each response is 
accompanied by a brief commentary explaining the strengths and weaknesses of the answers. 
 
For ease of reference the following format for each component has been adopted: 
 
 

 
 
Each question is followed by an extract of the mark scheme used by examiners. This, in turn, is followed by 
examples of marked candidate responses, each with an examiner comment on performance. Comments are 
given to indicate where and why marks were awarded, and how additional marks could have been obtained. 
In this way, it is possible to understand what candidates have done to gain their marks and what they still 
have to do to improve them. 
 
This document illustrates the standard of candidate work for those parts of the assessment which help 
teachers assess what is required to achieve certain grades beyond what should be clear from the mark 
scheme. Some question types where the answer is clear from the mark scheme, such as short answers and 
multiple choice, have therefore been omitted. 
 
Past papers, Examiner Reports and other teacher support materials are available on Teacher Support at 
https://teachers.cie.org.uk 

Question 

Mark scheme 

Example candidate 
response 

Examiner comment 
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Assessment at a glance 

 
All candidates take two components, Paper 1 and Paper 2. 
 

All candidates take: and: 

Paper 1 1 hour 30 minutes 

Written paper 50% 

80 marks 

Four questions requiring a mixture of short 

answers and structured data responses 

Candidates answer all questions 

Externally assessed 

Paper 2 1 hour 30 minutes 

Written paper 50% 

80 marks 

Four questions based on a case study, 

provided as an insert with the paper 

Candidates answer all questions 

Externally assessed 
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Paper 1 

 

Question 1 
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Question 1, continued 
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Question 1, continued 
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Mark scheme 
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Mark scheme, continued 
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Example candidate response – high 
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Example candidate response – high, continued 
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Example candidate response – high, continued 
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Examiner comment – high 
 

 A correct definition of quality assurance was provided which recognised that this took place (a)
throughout the manufacturing process. Both marks were awarded. 2/2 
 

 The candidate identified two ways in which in which break-even analysis might be helpful. Both marks (b)
were awarded. 2/2 
 

 The candidate correctly plotted both the total cost and total revenue lines and labelled each line. All (c)
four marks were therefore awarded. 4/4 
 

 The candidate correctly identified two advantages, namely ‘less mistakes’ and ‘more efficient’, and (d)
then went on to clearly explain how each point could help the business lower its costs and speed up 
production. The candidate used relevant examples from the business in terms of luxury watches and 
handmade to show the importance of skilled workers to this particular business. A mark of six was 
awarded. 6/6 
 

 The candidate was required to discuss whether investing in new technology was the best way for this (e)
business to improve profitability. The candidate identified a number of relevant issues such as speed 
and developed the point to explain the possible benefit of this in terms of lower average costs. 
Unfortunately, the damage to brand image was not explained. The candidate then made a simple 
justified decision against the statement, which was valid based on the points made. The candidate 
needed to add further development to gain the second evaluation mark. Overall a total of four marks 
were awarded to this response. 4/6 

 
Total marks awarded: 18 out of 20
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Example candidate response – middle 
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Example candidate response – middle, continued 
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Example candidate response – middle, continued 
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Examiner comment – middle 
 

 The candidate gave an imprecise definition of quality assurance. They understood that it involved (a)
checking quality but there was no mention of when in the production process such checks occurred. 
A mark of one was awarded. 1/2 
 

 Both answers were vague. The points, namely estimate the number of watches and less wastage, (b)
were general points about information which could be found in a number of financial documents. To 
be rewarded the candidate needed to say how this information would help the business, for example 
to make decisions. 
 

 No marks were awarded for this answer. 0/2 (c)
 

 The candidate correctly plotted the starting point for total costs. This showed some application of (d)
theory to the question. Unfortunately, the other values shown for total costs and the total revenue 
line were imprecisely plotted and incorrectly labelled. A mark of one was awarded. 1/4 
 

 The candidate correctly identified two advantages, namely higher output and efficient use of (e)
resources. Both answers were clearly applied to the business in question. However, neither point 
was sufficiently developed to gain the analysis marks. For example, for advantage one the candidate 
did not explain how or why higher output would result in faster output or more quality. Four marks 
were awarded; two for identification of two advantages and two for applying these points to the 
business in question. 4/6 
 

 For this part there is only one mark available for knowledge. The candidate identified a number of (f)
issues, namely being known for high quality, increasing output and ‘less chances of error’; 
unfortunately none of these points were explained. The candidate needed to show how points such 
as fewer errors might help the business or why its reputation might be damaged by the introduction 
of new technology. The reference to ‘handmade’ watches showed some application to the question. 
There were two marks available for evaluation but unfortunately there was no clear attempt at 
evaluation made other than the statement at the start of the answer. Two marks were awarded; one 
mark for knowledge and one mark for application. 2/6 

 

Total marks awarded: 8 out of 20
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Example candidate response – low 
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Example candidate response – low, continued 
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Example candidate response – low, continued 
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Examiner comment – low 
 

 The candidate understood that quality assurance involved checking quality but there was no mention (a)
of when in the production process such checks occurred. A mark of one was awarded. 1/2 
 

 The candidate correctly stated one way, namely it shows the break-even point. The other answer (b)
confused break-even analysis with a cash flow forecast so gained no credit. A total mark of one was 
awarded for this response. 1/2 
 

 The candidate correctly plotted the starting point for total costs. This showed some application of (c)
theory to the question. Unfortunately, the other values shown for fixed costs and the total revenue line 
were imprecisely plotted. There was no attempt to label the chart. Only one mark was awarded. 1/2 
 

 Limited understanding of this part of the question was shown in this response. The candidate was (d)
aware of one advantage, namely faster. The candidate identified another advantage but this was a 
repeat of the first point. There was no development as the explanation repeats the idea that using 
skilled workers will be faster rather than explain how this would benefit the business. There was no 
attempt to apply either answer to the scenario. The response was awarded one mark. 1/2 
 

 After a generic introduction, the candidate correctly identified a number of issues. The knowledge was (e)
provided as a list of points, although none of which were developed. For example, the candidate 
states that new technology could improve the products but does not explain how or why this would 
benefit the business. There was no attempt at application. The candidate makes a weak attempt at 
evaluation, but this statement is not supported by their answer. A mark of one was therefore 
awarded. 1/6 

 

Total marks awarded: 5 out of 20
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Question 2 
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Question 2, continued 
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Mark scheme 
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Mark scheme, continued 
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Mark scheme, continued 
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Example candidate response – high 
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Example candidate response – high, continued 
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Examiner comment – high 
 

 The candidate offers some understanding by stating that a multinational company operated in a (a)
number of countries. To gain both marks the candidate would need to add further detail to clarify the 
type of operations undertaken by the business in each country. One mark was awarded. 1/2 
 

 A correction definition of a brand was provided which made clear that the name given to a product (b)
helped to distinguish this product from others. Two marks were awarded for this response. 2/2 
 

 The candidate correctly identifies two reasons, namely miscommunication might be expensive and (c)
diseconomies of scale. For the first reason the candidate is able to apply their answer by recognising 
that Alkin operated in a number of different countries so effective communication is needed between 
the different branches. The explanation of the diseconomies of scale is not applied. The reference to 
big was seen as too vague to be credited. To gain credit the candidate needed to be precise and 
state that this business was a multinational company. This response gained three marks. 3/4 
 

 The candidate has correctly identified two advantages, expertise and risk is shared, and then went on (d)
to clearly explain each point. Neither of these points was linked to the scenario. To gain the 
application marks, the candidate could have made reference to relevant points such as type of 
products made or stated that the joint venture was with a local business. The candidate was awarded 
four marks. 4/6 
 

 This part of the question required candidates to discuss whether customers would be affected by (e)
multinational companies. The answer starts by stating advantages to the country and ends with 
disadvantages to workers, which did not answer the question. The response does contain one 
relevant disadvantage, limited choice, and explains how this might occur but the point is not applied 
in context. The attempt at evaluation cannot be rewarded as the response is not focused on 
customers, which the question required. Two marks were awarded; one for identification of one 
knowledge point and one for analysis. 2/6 

 

Total marks awarded: 12 out of 20
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Example candidate response – middle 
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Example candidate response – middle, continued 
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Examiner comment – middle 
 

 The candidate provided a correct definition of a multinational company as they recognised that this (a)
type of business produced products in different countries. Two marks were awarded. 2/2 
 

 The candidate showed some understanding as they knew a brand was the name, logo or image of a (b)
company. The term was not clearly explained as there was no mention of how it is this name which 
helps the business stand out and be distinct from its competitors. The response was awarded one 
mark. 1/2 
 

 The candidate correctly identified two reasons, namely the need to communicate with different people (c)
and to exchange ideas. For the first point there was some attempt to link this to the scenario. The 
attempt was not successful because the candidate did not make it clear that this business operated in 
different countries. There was no attempt at application in the second reason. To gain credit the 
candidate needed to show how exchanging ideas might help develop new types of food or change 
how it made the cereal. Two marks were awarded. 2/4 
 

 The candidate correctly stated two advantages but neither point is successfully explained. For (d)
example, for advantage one it is not clear why or how spreading risks helps a business be more 
focused. In the second advantage the candidate needed to say how more information would help 
lead to more sales or better meet customer needs. This response did show application in both the 
first and fourth lines to link the answer to the scenario. Overall, a total of three marks were awarded: 
two for knowledge and one for application. 3/6 
 

 The response was confused and the candidate seemed to be answering a different question to the (e)
one set. The candidate had the wrong focus as buy more food and increased sales revenue were 
benefits to the business, rather than identifying how consumers might be affected. The answer then 
discussed the implications of increased sales for other businesses and the Government of these 
businesses having less profit. As such none of the points identified could be rewarded. 0/6 

 
Total marks awarded: 8 out of 20
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Example candidate response – low 
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Example candidate response – low, continued 
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Examiner comment – low 
 

 The candidate gave an imprecise definition. The candidate understood the business was in two or (a)
more countries but there was no mention of the type of operations found in each country. One mark 
was awarded for this response. 1/2 
 

 Some understanding was shown as the candidate knew that a brand was the name given for a (b)
certain product. The term was not clearly explained so the response was awarded one mark. 1/2 
 

 The candidate correctly identified one reason why effective communication might be important and (c)
then went on to apply their answer to the scenario. The candidate did not offer a second reason. Two 
marks were awarded. 2/4 
 

 The candidate correctly identified one advantage: helping target the consumers. There was some (d)
attempt to apply their answer to Alkin’s situation but there was no development to show how or why 
this would create an advantage to a business. To gain credit the candidate needed to clarify that 
already knowing the consumers might lead to better products being produced or more sales being 
made. The second disadvantage listed was too vague as it was not clear how or why balanced profit 
was a benefit. Two marks were awarded for this response. 2/6 
 

 The candidate did not seem to understand what was required in this question. The question required (e)
candidates to focus on the effect on consumers. The example provided was not a valid response as 
economic growth was an issue for the country so this did not answer the question set. No marks were 
awarded for this response. 0/6 

 
Total marks awarded = 6 out of 20
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Question 3 
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Question 3, continued 
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Mark scheme 
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Mark scheme, continued 
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Mark scheme, continued 
 

Example Candidate Responses – Paper 1

Cambridge IGCSE® Business Studies 0450    41



 

 

Example candidate response – high 
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Example candidate response – high, continued 
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Examiner comment – high 
 

 The candidate correctly states two ways: after sales service and an appropriate example of a sales (a)
promotion. Two marks were awarded. 2/2 
 

 The candidate gave an imprecise definition of secondary market research. Existing data was (b)
identified but there was no mention of the type of information it gives. One mark was awarded. 1/2 
 

 The candidate correctly identified one method, gifts, and then went on to give an appropriate example (c)
in the context of a hairdressing business. The candidate identified one further method that was 
considered too vague to be credited, which was buy one get one free. This answer repeats the idea 
of free products for a period of time. To be credited as a separate method the candidate needed to 
show that this was a loyalty scheme. In total two marks were awarded for this response. 2/4 
 

 The candidate correctly identified two disadvantages: cannot buy a range of products and higher (d)
prices. The candidate then went on to explain how each point might create problems for a business in 
the form of customers might not be happy and higher prices might lead to less profit. Neither of these 
points was applied to this business. Four marks were awarded for identification of two possible 
disadvantages and two explanations. 4/6 
 

 Good understanding of relevant issues was shown in this response. A maximum of one mark was (e)
available for knowledge. The candidate used information given to help apply their answer to the 
situation. For example, wanting to have a good customer relationship as well as being aware that 
price can help decide the competitiveness of a business and this might be crucial to a new business. 
The candidate also identified that this was not a manufacturing business and used this information to 
help make a simple decision. Unfortunately, the point about the number of potential customers was 
not fully explained. A total mark of four was awarded for this response. 4/6 

 
Total marks awarded: 13 out of 20
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Example candidate response – middle 
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Example candidate response – middle, continued 
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Examiner comment - middle 
 

 The candidate correctly stated two ways: personal contact and listening to their complaints. Two (a)
marks were awarded. 2/2 
 

 The candidate showed some understanding of the term as they recognised it was research which has (b)
already been carried out. The candidate then repeated the idea that the research was not done first 
hand rather than explain what type of information was gathered. One mark was awarded. 1/2 
 

 The candidate correctly identified one method, advertising, but they provided a generic explanation (c)
which could apply to any business rather than the hairdressing business in question. A further 
example of discounts was offered but as this was seen as a type of promotional pricing it could not be 
credited. In total one mark was awarded for this response. 1/4 
 

 The candidate correctly provided one disadvantage, cost, but the example offered as an explanation (d)
that it was therefore easier to buy from retailers was unclear and did not add to the knowledge 
shown. The second answer was incorrect as one of the roles of a wholesaler is to break bulk. A mark 
of one was therefore awarded. 1/6 
 

 The candidate identified a range of issues, including the impact of high prices on the number of  (e)
purchases and the cost of rent, and then went on to explain why both these factors needed to be 
considered. Analysis of the impact was shown through explanations of how high prices mean 
customers will prefer buying a substitute and how, if costs are too high and the business does not 
make profit, this will force the business to shut down. Based on this information a simple decision was 
made. There was no attempt to use the case study material to link their answer to the business in 
question. A mark of four was awarded. 4/6 

 
Total marks awarded: 9 out of 20
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Example candidate response – low, continued 
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Examiner comment – low 
 

 The candidate correctly identified two ways: customised service and conversing with the customers. (a)
The response was awarded two marks. 2/2 
 

 The candidate showed some understanding of secondary market research, as they knew that it was (b)
information from already existing sources. The candidate then went on to provide examples of the 
sources used rather than explain the type of information gathered. One mark was awarded. 1/2 
 

 The two methods identified were not accepted as both were examples of promotional pricing which (c)
the question did not allow, therefore no marks were awarded. 0/4 
 

 Limited understanding of this part of the question was shown in this response. The candidate was (d)
required to identify and explain possible disadvantages to a business of using a wholesaler. The two 
answers given, products may get wasted and quality is not assured, were too vague. The candidate 
did not explain how or why products might get wasted. Although the second point might be seen as a 
disadvantage the candidate did not clearly say why this was a particular problem of using a 
wholesaler rather than a general issue for any channel of distribution. This response gained no 
marks. 0/6 
 

 The candidate identified one issue, the number of customers, and then went on to explain how the (e)
location chosen would have an impact on the price charged and therefore the amount of revenue a 
business could gain. A simple decision based on this was made. The candidate made no attempt at 
application. In total three marks were given to this response. 3/6 

 
Total marks awarded: 6 out of 20
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Question 4 
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Question 4, continued 
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Mark scheme 
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Mark scheme, continued 
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Example candidate response – high, continued 
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Examiner comment – high 
 

 The candidate correctly identified two reasons: increased profit and economies of scale. Two marks (a)
were awarded. 2/2 
 

 The candidate correctly identified two factors: period of time and is interest to be paid. Two marks (b)
were awarded. 2/2 
 

 The candidate correctly identified one advantage: shows the responsibility of the job. The reference (c)
to driving a plane means the answer is applied to the airline company. The second advantage was 
too vague to be credited. It was not clear how the job description helps the company place the job 
applicants. The explanation simply repeats the idea that it clearly shows the tasks needed to be done 
which has already been credited in advantage one. In total this response was awarded two marks. 
2/4 
 

 The candidate correctly stated two ways, specialist magazines and national newspaper. Both points (d)
were then developed to show why each was a suitable way to advertise the new jobs. The first way is 
applied to the case study as the candidate recognised that pilots need specialist skills so a specialist 
magazine would help reach these people with that specific skill. For the second way, the candidate 
developed their answer by explaining that newspapers were published frequently which means it 
would be able to reach a lot of people. The response stated that a pilot is not a common vocation but 
this was considered too vague to be credited as a separate application point as it appeared to be 
repeating the idea of specialist skills. In total, five marks were awarded; two for knowledge, two for 
analysis and one for application. 5/6 
 

 This response shows good knowledge as the candidate identified features from two different (e)
motivation theories, Taylor and Maslow. The explanations focused on how financial rewards could act 
as a motivator as personal gain could be a way to afford the things a pilot might want which could 
improve living standards. The response also offers an example of how having a sense of esteem 
could be achieved in the context of this business. There was a weak attempt at evaluation but there 
was no clear evidence to support the statement. The candidate needed to show how using Maslow’s 
approach the business would benefit rather than the employees. A mark of four was awarded to this 
response. 4/6 

 
Total marks awarded: 15 out of 20
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Examiner comment – middle 
 

 The candidate correctly identified two reasons: increased profit and increased market share. Two (a)
marks were awarded. 2/2 
 

 The candidate correctly identified one factor, whether the company has free capital. The second (b)
answer was too vague as it was not clear why having a loan might be an issue. One mark was 
awarded. 1/2 
 

 The candidate correctly identified one advantage, that it outlines the responsibilities and duties of the (c)
job. There was some basic application in the last line. The second advantage repeats the same point 
which will only be credited once. Two marks were awarded. 2/4 
 

 The candidate correctly identified one way, advertising on television, and then went on to explain that (d)
it could be a suitable method because more people would see it. There was no attempt at application 
in this response. The candidate offered another way, Internet, but the answer was too vague. 
Although this may be considered a method, the candidate did not clearly state where on the internet 
the advertisement would occur. To gain credit the candidate needed to say it was a job website, the 
company’s own website or one targeted at pilots. In total, two marks were awarded. 2/6 
 

 After an unclear start the response contained a relevant method of motivation, that of more holidays, (e)
and some attempt to link this method to the scenario. The attempt at analysis was not successful as it 
was not made clear why ‘relax is more important for pilots’. An attempt was made at evaluation but 
there was no evidence to support the initial statement. In total two marks were given; one mark was 
awarded for knowledge and one for application. 2/6 

 
Total marks awarded: 9 out of 20
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Examiner comment – low 
 

 The candidate correctly identified providing flights to new countries as one reason. The other (a)
response did not answer the question so could not be credited. One mark was awarded. 1/2 
 

 The candidate seemed to be answering a different question to the one set. The candidate identified (b)
possible sources of finance rather the factors to consider when choosing a source of finance. 
Therefore it gained no marks. 0/2 
 

 In this answer the candidate was required to state two advantages to a business of producing a job (c)
description. The candidate offered some advantages but neither is a valid response. The candidate 
discussed how the new employee might use the job description but did not explain how the business 
would use the document, which was the question set. The other advantage stated was too vague as 
it was not clear how or what was easier to understand. No marks were awarded for this response. 0/4 
 

 The candidate correctly identified one way but there was no attempt to explain why advertising in (d)
newspapers might be a suitable method. There was a basic attempt to link the answer to the context. 
The candidate identified a further way that was considered too vague to be credited, namely the 
internet. In total, two marks were awarded. 2/6 
 

 The candidate struggled to develop the answer. Knowledge was shown as the candidate recognised (e)
that people need money to make a living and people want job satisfaction. Unfortunately there was no 
application or analysis shown. A mark of one was awarded to this response. 1/6 

 
 

Total marks awarded: 4 out of 20
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